FENCING SUPPLIER TO COORDINATE WITH
STRUCTURAL ENGINEERS GEOTECHNICAL

BOLT PROTECTOR

@70mm x60mm

CONCRETE IN END POST SHOWN
RUBBER STOP ONE SIDE ONLY

3 NO. M16x50 HRH BOLTS GRADE 8.8,

HEX NUT, CONE NUT C/W
2 WASHERS ALL HD GALV

M16x60 HRH BOLTS GRADE 8.8,
HEX NUT, CONE NUT C/W
2 WASHERS ALL HD GALV

M16x50 HRH BOLTS GRADE 8.8,
HEX NUT, CONE NUT C/W
2 WASHERS ALL HD GALV

PIN TO BE PAINTED
AFTER INSTALL FOR
EXTRA PROTECTION

_/

PALES OMITTED FOR CLARITY
SCALE 2:1

@70mm x60mm
RUBBER STOP

50

2400 O/A HEIGHT
2350 O/A PALE LENGTH

3900 O/A STANDARD POST
3200 O/A EXTENDED POST

462.5 2750 POST CRS
422.5
85 24 No. PALES @ 112mm CRS 85
L L L e _
A0
E Y il il el a B B 1ol il il el a B B 1ol il il Gl [ a T Y I il : 9 T q i [ — m
@70mm x60mm( ||||@70mm x60m
\RUBBI?R STOP| RUB?ER STOP!

-

i
@70mm x60mm H H
RUBBER STOPILL

a
e o O o i
@70mm x60mm || & 70mm x60m
RUBBER STOP RUBBER STOP

0]0 e @ <1 <1 el e e e @ <1 <1 el e e 0[@

i [
Tt I

@70mm x60mm @70mm x60mm
A1 L T T o o Wl m i ni nin e m nm it G Wrusser sTop RuBBER sTop! UL

SURVEY REPORT FOR SUBSTRATE BEARING
CAPICITY

01 PERIMETER FENCE DETAIL OF 2.4M HIGH

SCALE: 1:20

50

600

900/1400

S OO {400y ST
‘ar‘\ar‘\m\m\m -

O‘
g
i

BOLT DOWN END ELEVATION

250

NOTE-120x80x8 RHS END POSTS

CONCRETE IN END POST SHOWN

450/600 SQ

NOTE-120x80x6.3 RHS INTER POSTS

ASSEMBLED FRONT ELEVATION

BOLT PROTECTOR

END POST ONLY LETTER 'E'
WELDED ON REAR OF POST HERE

M16x50 HRH BOLTS GRADE 8.8,
HEX NUT, CONE NUT C/W
2 WASHERS ALL HD GALV

1

M16x60 HRH BOLTS GRADE 8.8,
HEX NUT, CONE NUT C/W
2 WASHERS ALL HD GALV

I

@70mm x60mm
RUBBER STOP

5

1
= A, ){
RUBBER STOP

rf1 -
T

NOTE: WHERE THIS FENCE IS INSTALLED AROUND SLIDING
GATES, INSTALL ANTI-TRAP MESH TO INNER SIDE OF PANEL
TO SUPPLIERS FENCING REQUIREMENTS

PALE
AT I
NN
ANGLE RAILS
NOTCHED TO
\J STOP REMOVAL

SCALE 4:1

/\~~ PALE

PIN TO BE PAINTED
AFTER INSTALL FOR
EXTRA PROTECTION
BUFFER BRACKETS
CONCRETE IN END ELEVATION

[0

LT}

- '\ 6 NO.M20 RESIN ANCHORS

PALES OMITTED FOR CLARITY LENGTH TO MATCH BOLT LOADINGS
SCALE 2:1 BY MANUFACTURER

II il |
m\ 3 NO. M16x50 HRH BOLTS GRADE 8.8,

HEX NUT, CONE NUT C/W
2 WASHERS ALL HD GALV

@70mm x60mm
RUBBER STOP

HEX NUT

SNAP OFF CONE NUT

PALES OMITTED FOR CLARITY
CONCRETE IN END POST SHOWN
RUBBER STOP ONE SIDE ONLY

SCALE 2:1

ASSEMBLED PLAN

850

J]

a!
Foundation

i

2062

2272

Passage Height

A<
Lﬁ?
<
<
o
—
I
>
o AT AT
c O
S
» -
S
=
o
N
o )
o
0
It
S -
pr) -
©
e
c
S
o o
w o
<
A< A<

02 TURNSTILE DETAILS

SCALE: 1:20

800

INSIDE
Foundation =3062 L
L 1861 L 600 L
1 7 i
777777777 / I -
R —F
e -
-t f=——-x S |
LD \ |
u - \ L |
,,,,,,,,, . - ]
\\
L 442 L 625 85
1 1 1
y 1942 )
71 71
OUTSIDE

1,150 |,

800

FTS-M03 with open
integrated swing door

INSIDE

\\9\

o
\

[ 5

\ | 7/, ’

[1]

/

/7

=10

- Ql

1942

OUTSIDE

MICROSOFT CONFIDENTIAL

\/ ANGLE RAILS
— NOTCHED TO
SCALE 4:1 STOP REMOVAL

HIGH SECURTIY 'W' PALE FENCE

FOUNDATION DETAILS TO SUIT LOCAL
GROUND CONDITIONS; CONTRACTER
TO VERIFY SIZE AND CALCULATIONS
WITH STRUCTURAL ENGINEER.
(TYPICAL DETAIL SHOWN)

- MINIMUM HEIGHT:2,400 MM

- MAX CLEARANCE BETWEEN PALES
AND GROUND: 50 MM

- INTERMEDIATE POSTS: 120X80X5 RHS
- CORNER POSTS: 120X120X5 RHS

- FINISH: PPC RAL 9005 JET BLACK

- ALL SCREWS, NUTS AND BOLTS TO
BE PAINTED MATCHING COLOUR
AFTER INSTALLATION

-'NO TRESPASSING' AND 'CCTV IN
OPERATION' SIGNS POSTED
EVERY 30M ALONG SITE PERIMETER.

- PALES TO BE 'W' SHAPED

1: 20@A0

1 Lower Farm Barns
Bainton Road, Bucknell
Bicester OX27 7LT, UK
www.red-eng.com

t: +44-(1869)355600
f: +44-(1869)250777
e: oxfordcad@red-eng.com

Gensler

4 St Philip's Place
First Floor
Birmingham

B3 2SL

United Kingdom

Tel. +44 (0)121 260 1600

. Microsoft

CWL01-02

Duffryn Lane Newport
NP10 8BE

Design Team

Design GENSLER
Drawn SD
Checked JL

Date 27.10.23
Company Project No. P.020340
M.S. Project No. P.020340

T I
Approvals

CUSTOMER MICROSOFT Date

Microsoft Design Manager LEVI HOLLAND

Microsoft Electrical Engineer  MARK GLEESON

Microsoft Bas/Epms Engineer ANDREW FREEZER

Microsoft Mechanical Engineer pAvID WEST

CSA SHARENDRA NAIDU / STUART MCKEOWN
Telecom MARK KELLY /PAUL BISHOP
Security Manager DAVID BEADLE
Environmental DEIRDRE GORMAN
PROJECT MANAGEMENT

Project Planner

Date
Project Manager

Senior Project Manager

Development Manager

Project Manager

Quality Control Reviewer

Quality Control FF&E

T I
Revisions

No. Date Description

P01 31.08.23 PLANNING
P02 27.10.23 PLANNING

B
Registration

T I

|

BIKE
SHELTER

SMOKE
SHELTER
SMOKE Q
SHELTER!

A BIKE

Bar Code

SITE NORTH

Sheet Title/Number

FENCE DETAILS

CWLO01-02-
L-P-13

© Gensler 2022
All rights reserved, including but not limited to The Copyright, Design and Patents Act 1988

CWL01-02 L-P-13- P02



